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1. (A)  . . 31-3-2018         14 

 `  ` 

 ,  ` 10     1,32,000 

    8,25,000 - 16,50,000 

10%  .        13,20,000 

` 100    16,50,000 12%     

  8,25,000 (. . ` 3,30,000)  1,98,000 

10%   9,90,000  6,60,000 

 3,30,000  2,64,000 

 1,65,000  2,31,000 

 -  1,65,000     4,02,600 

    92,400 

 49,50,000  49,50,000 

     
  (1) -      20%  ,     

     20%  . 
  (2) 20%       20%  . 
  (3)  .              15% 

 . 
  (4)        (50% )  ` 3,30,000, ` 9,90,000 

 ` 6,60,000 . 
            . 

 
  (1)        . 7 

  (2)       . 7 



MG-101 2  

 (B)          .      
  ( ) 4 

  (1)              
  ? 

   (a)     (b)    
   (c)     (d)   
  (2)           ? 

   (a)     (b)   
   (c)     (d)   
  (3)       ? 

   (a)   –   (b)   –    
   (c)   +   (d)   +   
  (4)   3         .  

 ` 8,00,000,    12%,   ` 1,20,000. 

   (a) ` 96,000 (b) ` 72,000 (c) ` 1,44,000 (d) ` 27,000 

  (5)        – 

   (a)  . (b)  . (c)  . (d)  . 
  (6)            

    ? 

   (a)     (b)   
   (c)    (d)   
 

2. (A)   .  . 31-3-2018         14 

 `  ` 

` 100               6,00,000 

  6,00,000  4,00,000 

10%   2,00,000  1,00,000 

  2,00,000  1,00,000 

10%   2,00,000 - 2,00,000 

 2,00,000   1,00,000 

  1,00,000   

 15,00,000  15,00,000 
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     
  (1)   ` 7,00,000 . 
  (2)   ` 1,00,000 . 
  (3)      ` 3,00,000 . 
  (4)    15% . 
       . 
               
  (1)     ?      . 7 

  (2)   ,         
. 7 

 (B)                 
( ) 4 

  (1)     ________    . 
   (a)     (b)     

   (c)     (d)   

  (2)        ` 900     ` 840  
    ________ . 

   (a) ` 870 (b) ` 960 (c) ` 690 (d) ` 780 

  (3)         ? 

   (a)   (b)   (c)   (d)   

  (4)          ? 

   (a)     (b)     
   (c)     (d)   
  (5)            

   ? 
   (a)     (b)   
   (c)     (d)    
  (6)           – 

   (a)  .   (b)  .  

   (c)    . (d)  ,   
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3. (A)   . . 31-3-2018        . 
    ( )  -  .    13  
16    14 

  ` 

(1)  96,00,000 

(2)   12,00,000 

(3)   3,60,000 

(4)    3,00,000 

(5)    36,000 

(6)   60,000 

(7)   96,000 

(8)   36,000 

(9)   60,000 

(10)     2,64,000 

(11)    1,32,000 

(12)    9,600 

(13)     50,400 

(14)    (1-4-2017) 9,600 

(15) -    (1-4-2017) 3,60,000 

(16)              66,000 

(17) - 1,56,000 

(18)     62,400 

(19)  - 14,400 

(20)   21,600 

(21)   12,000 

     
  (1) . 31-3-2018       ` 12,000 . 
  (2)   ` 24,000    ` 60,000    . 
  (3)   10% . 
  (4)       . 

 
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  (1)         . 31-3-2018     
 “-”  -     7 

      ` 

  57,60,000 

  18,72,000 

  5,76,000 

 14,40,000 

  23,04,000 

   4,32,000 

  -    11,52,000 

              . 
 

  (2)            
 . 7 

 (B)                 
( ) 3 

  (1)      – 

   (a)    .  (b)    . 
   (c)      . (d)     
  (2)          _____   

     . 
   (a) 10% (b) 20% (c) 25% (d) 5% 

  (3)   (NPA)       ________   
  . 

   (a) -   (b)   
   (c)     (d)    
  (4)            

   ? 

   (a)     (b)   
   (c)    (d)   
  (5)              ? 

   (a)     (b)   
   (c)     (d)     
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4. (A)   . 31-3-2018           
   14 

 `  ` 

5,000    ` 100   5,00,000 - 6,00,000 

10,000 6%  .    - 12,00,000 

 ` 100  10,00,000  2,50,000 

15,000      3,00,000 

 ` 100  , ` 60  9,00,000  4,50,000 

5%    5,00,000  1,50,000 

  25,000 -  7,00,000 

 7,25,000   

 36,50,000  36,50,000 

       3%     
    2%     . 

        

 ` 

- 10,00,000 

 1,60,000 

 4,50,000 

   8,00,000 

 2,50,000 

  ` 60,000    .  ` 75,000    -
     ` 2,50,000    .     
 . 

       . 

 
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  (1)  .         ` 10,00,000 , 
      7 

  ` 

(1)    2,00,000 

(2)    15,000 

(3)        1,50,000 

(4)      1,30,000 

(5)     50,000 

(6)        1,20,000 

(7)      10,000 

(8)    (?) 

        ,     
  . 

  (2)    (  ) 7 

   (1)  -  

   (2)   

   (3)    

 (B)       ( ) 3 

  (1)           ? 

   (a)   (b)  (c)  (d)  

  (2)  -        ? 

   (a)     (b)    

   (c)       (d)    

  (3)     ,    ` 12,000    
.         ? 

   (a) ` 72,000 (b) ` 36,000 (c) ` 1,08,000 (d) ` 60,000 
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  (4)       ` 94,500 .    
  5%  ________. 

   (a) ` 4,500 (b) ` 4,275 (c) ` 4,725 (d) ` 5,400 

  (5)        ? 

   (a)  (b)   (c)   (d)  

_____________ 
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Time : 2:30 Hours]  [Max. Marks : 70 
 
1. (A) Following is the Balance Sheet of Milin Ltd. as on 31st March, 2018. 14 

Liabilities ` Assets ` 

Equity Shares of ` 10 
each fully paid 

          
8,25,000 

Goodwill 

Land & Building 

1,32,000 

16,50,000 

10% Pref. Shares of   
` 100 each fully paid 

General Reserve 

 
16,50,000 

8,25,000 

Plant & Machinery 

12% Govt. Securities  

(Face Value ` 3,30,000) 

13,20,000 

 

1,98,000 

10% Debentures 9,90,000 Stock 6,60,000 

Creditors 3,30,000 Debtors 2,64,000 

Bills payable 1,65,000 Bills Receivable 2,31,000 

Employee’s profit 
sharing fund 

1,65,000 Cash & Bank balance 

Preliminary expenses 

4,02,600 

92,400 

 49,50,000  49,50,000 

  Additional Information : 

  (1) Market value of Land & Building is 20% more than the book value, while 
that of Plant & Machinery is 20% less than the book value. 

  (2) Market value of 20% of stock is 20% more than the book value. 

  (3) The expected rate of return on capital employed in the class of the business 
done by Milin Ltd. is 15%. 

  (4) Profit after tax (at 50%) for the last three years were ` 3,30,000, ` 9,90,000 
and ` 6,60,000 respectively. 

    You are required to calculate the amount of Goodwill at the three 
times of super profit of the company. 

OR 

  (i) Write short notes on : Super profit in valuation of Goodwill. 7 

  (ii) Write short notes on : Factors affecting goodwill. 7 
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 (B) Choose right answer from given options : (any four) 4 

  (1) When profit of few years are increasing then which profit is taken into 
account for calculating goodwill ? 

   (A) Simple average profit (B) Weighted average profit 

   (C) Capitalized profit (D) Super profit 

  (2) What is the capitalized value of average profit on the basis of expected rate 
of return ? 

   (A) Super profit (B) Goodwill 

   (C) Weighted average profit (D) Capitalization of profit 

  (3) What is the formula for finding out super profit ? 

   (A) Average profit – expected profit 

   (B) Expected profit – Average profit 

   (C) Average profit + Expected profit 

   (D) Expected profit + Average profit 

  (4) Calculate goodwill from following information on the basis of 3 years 
purchase of super profit. Capital employed ` 8,00,000, expected rate of 
return is 12%, Average profit is ` 1,20,000. 

   (A) ` 96,000 (B) ` 72,000 

   (C) ` 1,44,000 (D) ` 27,000 

  (5) When risk is more in business then goodwill is 

   (A) Normal (B) Less 

   (C) More (D) Zero 

  (6) Which of the following detail is taken into account while calculating capital 
employed for valuation of goodwill ? 

   (A) Workmen’s compensation fund 

   (B) Preliminary expenses 

   (C) Worker’s profit sharing fund 

   (D) None of these 

 

2. (A) The Balance Sheet of PRINCE CO. Ltd. as on 31-3-2018 is as under : 14 

Liabilities ` Assets ` 

Equity Shares of ` 100 
each fully paid 

       
6,00,000 

Building 

Machineries 

6,00,000 

4,00,000 

10% Pref. Share Capital 2,00,000 Investments 1,00,000 

General Reserve 2,00,000 Debtors 1,00,000 

10% Debentures 2,00,000 Cash-Bank 2,00,000 

Creditors 2,00,000 Preliminary expenses 1,00,000 

Bills payable 1,00,000   

 15,00,000  15,00,000 
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  Additional information : 

  (1) Value of Building is ` 7,00,000. 

  (2) Value of Goodwill is ` 1,00,000. 

  (3) The average profit before distribution of dividend is ` 3,00,000. 

  (4) Expected rate of return is 15%. 

   Find out the fair value of equity shares. 

OR 

  (i) What is meant by valuation of shares ? Discuss factors affecting value of 
shares. 7 

  (ii) Discuss the concepts of Intrinsic value, Market value and Fair value of 
Equity share with the help of formula. 7 

 

 (B) Choose right answer from given options : (any four) 4 

  (1) The assets should be valued at their _____ values. 

   (A) Book (B) Realizable 

   (C) Original (D) Cost 

  (2) If the fair value of an equity share of a company is ` 900 and its market 
value is ` 840, then the intrinsic value of share is 

   (A) ` 870 (B) ` 960 

   (C) ` 690 (D) ` 780 

  (3) On which value of the share, company gives dividend ? 

   (A) Market value (B) Fair value 

   (C) Intrinsic value (D) Face value 

  (4) Out of the following, which company’s share is not quoted in stock        
market ? 

   (A) Foreign Company (B) Public Sector Company 

   (C) Holding Company (D) Private Company  

  (5) While calculating net assets for share valuation purpose, fictitious assets are 
valued at 

   (A) Book value (B) Market value 

   (C) Face value (D) None of these 

  (6) Normally, the intrinsic value of a share ____ after issue of bonus shares. 

   (A) increases 

   (B) decreases 

   (C) remain unchanged 

   (D) sometimes increases, sometimes decreases 
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3. (A) Some balances are taken from the Trial Balance of Valsad Bank Ltd. as on                   

31-3-2018, prepare profit and loss a/c. in Form ‘B’. Also prepare schedules                

13 to 16.  14 

 Particulars ` 

(1) Share Capital 96,00,000 

(2) Loan interest 12,00,000 

(3) Overdraft interest 3,60,000 

(4) Cash credit interest 3,00,000 

(5) Repairs of Assets 36,000 

(6) Law charges 60,000 

(7) Administrative expenses 96,000 

(8) Audit fees 36,000 

(9) Director fees 60,000 

(10) Interest on fixed deposit 2,64,000 

(11) Interest on savings deposit  1,32,000 

(12) Interest on current deposit 9,600 

(13) Discount received on bills 50,400 

(14) Rebate on bills discounted (1-4-2017) 9,600 

(15) Credit Balance of P & L A/c. (1-4-2017) 3,60,000 

(16) Bank charges and commission recovered from customers      66,000 

(17) Salaries and Allowances 1,56,000 

(18) Rent of Safe Deposit vault 62,400 

(19) Rent and taxes paid 14,400 

(20) Sundry expenses 21,600 

(21) Sundry incomes 12,000 

  Other Informations : 

  (1) The balance of rebate on bills discounted as on 31-3-2018 is ` 12,000. 

  (2) Provide ` 24,000 for Bad debts and ` 60,000 for taxes. 

  (3) Proposed dividend is 10%. 

  (4) Maintain statutory reserve as per law. 

OR 
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  (i) From the following information, prepare profit and loss A/c. (Form ‘B’) for 

the year ending on 31-3-2018 for the Amar Bank Ltd. 7 

   Particulars ` 

Interest earned 57,60,000 

Operating expenses 18,72,000 

Other income 5,76,000 

Deposits 14,40,000 

Interest expended 23,04,000 

Provisions and contingencies 4,32,000 

Credit Balance of last year’s P & L A/c. 11,52,000 

   Minimum necessary amount as per the Act is to be transferred to Statutory 

Reserve Account. 
 

  (ii) Mention any four contingent liabilities and other assets, that are shown in 

Balance Sheet of Banking company. 7 

 

 (B) Choose right answer from given options : (any three) 3 

  (1) The Opening Balance of Rebate on bills discounted account is 

   (A) Credit Balance (B) Debit Balance 

   (C) Either Debit or Credit (D) None of these 

  (2) As per Banking Regulation Act, every bank has to transfer _____ of profit 

to Statutory Reserve Fund Account. 

   (A) 10% (B) 20% 

   (C) 25% (D) 5% 

  (3) In which account is the interest accrued on non-performing assets deposited 

of the date of maturity ? 

   (A) Profit and Loss Account (B) Interest Account 

   (C) Interest Suspense Account (D) None of the above 

  (4) Which of the following asset is not included in the classification of bank 

advances as per Banking Act ? 

   (A) Mortgage Assets (B) Standard Assets 

   (C) Sub-standard Assets (D) Loss Assets 

  (5) The expenses of special audit suggested by Reserve Bank in public interest 

will be borne by _____ 

   (A) Reserve Bank of India (B) Government of India 

   (C) Banking Company itself (D) Central Bank of India 
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4. (A) Ronak Ltd. went into voluntary liquidation on 31-3-2018. The balances in its 

books on that date were : 14 

Liabilities ` Assets ` 

5,000 Equity Shares of ` 100  5,00,000 Land & Buildings 6,00,000 

10,000 6% Pref. Shares of ` 100 10,00,000 Machinery & Plants 12,00,000 

15,000 Equity shares of ` 100 

each, ` 60 paid. 

            

9,00,000 

Patents 

Stock 

2,50,000 

3,00,000 

5% Mortgaged debentures 5,00,000 Debtors 4,50,000 

Interest outstanding 25,000 Cash 1,50,000 

Creditors 7,25,000 Profit & Loss A/c. 7,00,000 

 36,50,000  36,50,000 

  The liquidator is entitled to a commission of 3% on all assets realized except cash 

and 2% on amount distributed to unsecured creditors  other than Preferential 

Creditors. The assets realized as follows : 

 ` 

Land & Building 10,00,000 

Patents 1,60,000 

Debtors 4,50,000 

Machinery and plants 8,00,000 

Stock 2,50,000 

 

  The expenses of liquidation amounted to ` 60,000. Creditors include Preferential 

creditors of ` 75,000 and a loan of ` 2,50,000 secured by a mortgage of Land & 

Buildings. The preference dividends were in arrears for two years.  

  Prepare the Liquidator’s Final statement of Accounts. 

OR 
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  (i) At the time of liquidation of Sattva Ltd. the total liabilities of the company 
was ` 10,00,000, which include following items : 7 

   ` 

(1) Provident fund of employees = 2,00,000 

(2) Outstanding Directors’ fees = 15,000 

(3) Outstanding salary of two clerks for five months = 1,50,000 

(4) Outstanding income tax before two year = 1,30,000 

(5) Outstanding wages of workers = 50,000 

(6) Outstanding salary of one cashier of last three 
months 

 
= 

 
1,20,000 

(7) Outstanding municipal tax of last year = 10,000 

(8) Remaining amount of Sundry creditors = (?) 

   From the above information, classify the fully secured creditors, preferential 
creditors and unsecured creditors. 

  (ii) Write short note : (any two) 7 

   (1) Liquidator’s statement of Receipts and payments. 

   (2) Preferential creditors. 

   (3) Fully secured creditors. 

 

 (B) Choose right answer from given options : (any three) 3 

  (1) From the following, who cannot file the application for winding up the 
company ?   

   (A) Company itself (B) Creditors 

   (C) Stockholders (D) Debtors 

  (2) When a liquidator should prepare final statement of Receipts and         
payments ? 

   (A) Every year (B) Every three years 

   (C) On completion of liquidation (D) Every two years 

  (3) Salary of three Clerks is monthly ` 12,000 each, which is outstanding for 
last three months. How much amount would be considered as Preferential 
Creditors at the time of liquidation ? 

   (A) ` 72,000 (B) ` 36,000 

   (C) ` 1,08,000 (D) ` 60,000 
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  (4) The liquidator has cash on hand ` 94,500 to pay the creditors. The 
liquidators is entitled to a remuneration at 5% on the amount distributed to 
creditors, what will be the remuneration of the liquidator ? 

   (A) ` 4,500 (B) ` 4,275 

   (C) ` 4,725 (D) ` 5,400 

  (5) Which of the following is considered as floating charge creditors ? 

   (A) Creditors (B) Government dues 

   (C) Provident fund (D) Debentures 

 

_____________   


